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I. Introduction

1. Economic development is a long-term process.  However, much happens in the short-term.  Shocks include changes in world prices, excessive spending, and natural disasters.  Governments must have abilities to counteract these economic shocks.

2. During the 1970s and 1980s, many economies became unbalanced due to unstable world market conditions.  Oil price shocks during the 1970s,  followed by oil price declines in the mid-1980s.  Rising inflation in the 1970s, followed by corrective policies in the 80s.  Exchange rates had wide swings in both decades.

3. Some governments were able to cope with these shocks such as East and Southeast Asia, while other countries ran into troubles such as Latin America and Africa, where these countries had debt crisis.  Countries with overvalued exchange rates and rapid inflation have been unable to grow rapidly.  IMF’s stabilization programs are intended to correct these macroeconomic imbalances.

4. This session intends to develop a mechanism for analyzing the macroeconomic policies for LDCs to stabilize its economy and create a climate for faster economic growth.  Two main policy policies for correcting macroeconomic imbalances: reductions in expenditures and adjustments in relative prices. 

II. Equilibrium in a Small, Open Economy

1. Small open economy.  

a. Two features for LDCs to understand how macroeconomic imbalances occur and can be corrected.

i. Open economy.  Trade and capital flows across borders in sufficient volume to influence the domestic economy, particularly prices and money supply.

ii. Small economy.  Price takers in world markets.  Their exports and imports cannot influence world market prices.  Some countries have influence on the price of one or two commodities, but hey almost never affect the price of their import goods; e.g., Brazil in coffee, Saudi Arabia in oil, Zambia in copper, South Africa in diamonds.

b. Australian model for small open economy.  Developed by Australian economists.  Exports and imports are tradables; others are nontradables.
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Tradable goods and services:  prices within the country are determined by supply and demand on world markets, and therefore are exogenous to the model.                       Domestic price =exchange rate * world market price
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 Nontradables:  Prices are determined by market forces within the country and therefore are endogenous to the model.  
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Internal and external balance. 

a.  Fig. 20-1: equilibrium in the Australian model between tradables (T) and nontradables (N).  Relative price P is a measure of the real exchange rate.  Supply and demand for N and T are 
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b. Trade balance = value of tradable supply – value of tradable demand.  GNP = GNE (expenditure, or absorption), when 
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Note: GNP = Y = C + I + E –M,  and GNE = C + I =Y + (M-E)

c. Australian model has three results:

i. Macroeconomic equilibrium is defined as a balance between supply and demand in two markets, tradables (external balance) and nontradables (internal balance).

ii. To achieve equilibrium in both markets, two conditions must be satisfied:  absorption = income, and the relative price of tradables (real exchange rate) must be at a level that equates demand and supply in both markets.

iii. Two remedies for an economy that is out of balance: adjusting absorption, the nominal exchange rate, or both.

3.   The phase diagram is used to explore the principles of stabilization.  
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  Real exchange rate  P is the price in both N, T markets.  For tradable goods, traditional supply (X) and demand (D) diagram, but in nontradables, reversed diagram, because a rise in P means a fall in the relative price of N. (Fig. 20-2)

b. Tradables:  Supply curve for X should be X+F, where F is inflow of long-term foreign capital.  

c. The phase diagram (Fig. 20-3 is derived from Fig. 20-2).  External balance vs. internal balance.  The axes, real exchange rate P and real absorption A are the two policy variables.  

d. Zones of imbalances along EB (external balance) and IB (internal balance) curves.  

i. External surplus: E>M, real exchange rate P (say P2)> equilibrium P1, production of tradables exceeds demand, P depreciated against P1.  

ii. External deficit: E<M, P appreciated against P1, 

iii. Internal deficit, excess demand, inflation.

iv. Internal surplus, excess supply, unemployment. 

4. Equilibrium and disequilibrium

a. Fig. 20-4 put together the two balance curves.  EB: T goods equilibrium.  IB: NT goods equilibrium.  Bliss point is the equilibrium where both internal and external balances intersect.

b. Four zones of imbalance.  

i. Zone A: external surplus + inflation, P undervalued

ii. Zone B: external deficit + inflation,  excessive expenditure (absorption > income)

iii. Zone C: external deficit + unemployment, P appreciated (exchange rate overvalued)

iv. Zone D: external surplus + unemployment, absorption <income.

c. Once in disequilibrium, economies have built-in tendencies to escape back into balance. (Fig. 20-5) Part A, external balance and Part B, internal balance.

i. External surplus, point 1.  Excess supply of tradables (i.e., E>M) generates two self-correcting tendencies.  

(1) International reserves increase due to net inflow of foreign exchange.  If the central bank takes no countermeasures, money supply will increase and interest rates will fall and induce both consumers and investors to spend more.  The increase in absorption moves the economy rightward, back toward external balance.

(2) Inflow of foreign exchange will create more demand for the local currency and will force an appreciation (under floating exchange rate).  This will be a move downward and toward external balance.

ii. External deficit, point 2.  The result is opposite, toward EB again.

iii. Internal deficit, point 3 (excess demand).  Inflation affects real exchange rate and real absorption.  If the nominal exchange rate remains fixed, the rise in NT prices causes a real appreciation (exchange rate overvalued) and at the same time, the rise in prices causes a fall in real value of absorption (A=C+I) (assuming that the central bank does not take steps to increase money supply to compensate for inflation).  The economy would move from point 3 back toward internal balance.

iv. Internal surplus, point 4 (excess supply).  Unemployment would be self-correcting if prices are able to fall as easily as they rise, but this is seldom the case.

d. Because of structural rigidities in the economy, the economy often fails to work smoothly like the above shown; e.g., exchange rate changes may take time to affect actual imports and exports.  Nontradables prices may rise quickly if there is excess demand, but the inflation may persist once it starts.  When there is unemployment, unions strike may prevent prices from falling.  The automatic tendencies toward external and internal balance as shown in Fig. 20-5 are likely to be too slow and politically painful to satisfy most governments.

e. Not all the barriers to adjustment are structural.  Policies sometimes work against adjustment.  For example, when foreign reserves fall, the money supply would also fall automatically unless the central bank  adopts the sterilization policy by expanding domestic credit to compensate for the fall in reserves and keep the money supply from falling [i.e., buying government securities or lowering interest rates).  Sterilization prevents the move from point  1 or 2  toward external balance.  Floating exchange rate is needed for external balance.  

f. For correcting toward internal balance, fixed nominal exchange rate  may be needed if inflation in nontradables prices is to cause a real exchange appreciation. This fixed nominal exchange rate  is called an exchange anchor.  Chile used this anchor to slow inflation during the late 1970s.

5. Stabilization policies

a. Governments need to take an active role to stabilize their economies.  Three instruments: exchange rate management, fiscal policy, and monetary policy.

i. Exchange rate management.  From fixed to floating rates.

ii. Fiscal policy and monetary policy are two instruments to influence absorption level.

b. Policy zones, Fig. 20-6.  From any position of disequilibrium, tow policy adjustments are generally needed to restore internal and external balance by combination of exchange rate and absorption policies.  Example: from point 1, external balance with inflation (Brazil case) caused by NT excess demand.  Monetary and fiscal austerity plus exchange rate appreciation would move the economy toward the bliss point 0 for both EB and IB equilibrium. 

c. Three features for the above result:

i. The combination of austerity and appreciation policies would work from any point within Quadrant I (inflation with external surplus or deficit) to return the economy to equilibrium.  

ii. Two policy adjustments are required to move toward equilibrium.  Tinbergen: to achieve a number of policy goals, it is generally necessary to employ the same number of policy instruments.  Here are two goals, and therefore two instruments are generally needed.  It is not always necessary to use two instruments; e.g., at points 5 and  6, one policy is enough.

iii. The policy prescription can be viewed in two ways:  Austerity is needed to reduce inflation and appreciation is used to avoid surplus.  Or, appreciation can be used for internal balance, but alone would cause a deficit, so that austerity is then needed to restore external balance.  Thus there is no logic in macroeconomics suggesting that one particular policy should be assigned to one particular goal.  In practice, the central bank might use the exchange rate to achieve external balance while the ministry of finance uses budget for internal balance.  But if these two approaches are not coordinated, they may well fail to reach equilibrium.

d. Quadrant II at point 2, with an external deficit but internal balance, exchange rate devaluation is needed to restore foreign balance, but taken alone would push the economy into inflation.  Fiscal and monetary austerity is also needed to avoid inflation and reach equilibrium.  African countries in the 1970s.

e. Quadrant III at point 3, expansionary fiscal-monetary policy and devaluation are needed to eliminate unemployment and reach equilibrium.  Matured DCs during a recession.

f. Quadrant IV at point 4, exchange rate appreciation to eliminate external surplus and fiscal expansion to prevent unemployment.  Taiwan and Malaysia during the 1980s.

III. Tales of Stabilization

1.  Dutch Disease (Fig. 20-7)

a. Windfall in foreign reserves occurs, EB shifts rightward, the economy is in surplus, leads to more expenditure.  Absorption rises to point 2. The economy moves off its internal balance into inflation.  

b. Pn rises, which has two effects:  a reduction in real absorption (partially corrects the initial rise in A) and a real appreciation of exchange rate (assuming official rate is fixed; even under floating nominal rate, the real exchange rate would appreciate because of larger foreign reserves would drive foreign currency rate down).  The economy would move from point 1 to 2, then to 3.

c. Two problems:

i. Now the economy is at a new equilibrium, with improved terms of trade, appreciated currency, more spending power, and less incentive to hard work.  When export prices fall or the capital inflow dries up, the EB curve will shift back and a costly adjustment will be necessary.

ii. In shifting from the old to the new equilibrium, there have to be adjustments in the economy.  The real exchange rate P is lower (Pn rises), so Xt (tradables supply) has fallen and Xn (nontradables supply) risen.  Unemployment occurs when workers switch from tradables to nontradables production. The decline of tradables sector means the windfall is over.  It is this decline in non-boom-tradables production that turns a foreign exchange windfall into a disease.

iii. Government’s actions to move back to point 1.  Devalue local currency, reduce expenditure through restrictive monetary and fiscal policies.  Indonesia (Ch. 17)

2. Debt repayment crisis (Fig. 20-8)

a. It’s a reverse of the Dutch Disease, a decline of terms of trade.

b. An economy at point 1 needs to find additional resources to repay its foreign debt or needs to adjust to falling terms of trade.  EB curve shifts from EB1 to EB2.  If there is debt relief, then the curve would shift to EB3.  Absorption is reduced due to falling foreign reserves and reduced expenditure. The actions move the economy toward external balance but also into unemployment (under IB).  To gain the new equilibrium at point 3, it is also necessary to devaluate the currency.  At point 3, the new equilibrium, the country is producing more and consuming less T, because real exchange rate P has risen,

3. Stabilization package: inflation and a deficit [Fig. 20-9]

a. An economy has budget deficit and inflation (point 1).  Private investors try to invest in nonproductive assets like land or to invest abroad, which deepens the external deficit.  IMF is called to make stabilization program loans.

b. IMF stabilization program: reduction in government’s budget deficit and programmed targets for domestic credit to cap the growth of money supply in order to reduce absorption and move the economy from point 1 to point 2 in equilibrium.  The package may require devaluation of exchange rate, to reach point 2 and avoid unemployment. 

c. However, IMF programs usually come with substantial aid attached from IMF, World Bank and bilateral donors.  The aid package would enable the country to have more foreign reserves to buy tradables, thus the equilibrium shifts from EB1 to EB2 at point 3.  Two things happen for the package:

i. It reduces the need for austerity (A3>A2)

ii. It  reduces the need for devaluation  (from point 1 to 3).  But IMF and donors  often insist on devaluation.

d. Hyperinflation case. Point 4 in Fig. 20-9.  Austerity is needed to move toward point 2 or 3 (with aid package). Devaluation would intensify inflation, and therefore appreciation may be required for reducing inflation.  Exchange anchor may work: exchange rate is fixed and let the continuing (and decreasing) Pn work to appreciate the real rate P.  Chile 1970s,  Bolivia mid-1980s, and Argentina 1990s.

4. Drought. Fig. 20-10.

a. The economy begins in equilibrium at point 1 (IB1 & EB1). Drought or another natural disaster reduces the capacity to produce both N and T, so the curves shift to the west to EB2 and IB2. 

b. The new EB2 may be helped by foreign aid to EB3 at a new equilibrium point 3.  The economy at point 1 is inflationary. The absorption declines due to a fall in incomes, but at the same time government tries to spend more to relieve hunger, disease and other problems.  The outcome lies between points 1 and 3.

5. Case studies

a. Chile, 1973-84, pioneering stabilization

b. Ghana, 1983-91, recovering from mismanagement

c. Taiwan, 1980-87, accumulating foreign reserves

IV. Next week

1.  Homework

a. Ch. 20, Exercise No. 1 (a)-(c), as part of group grading.  By a specified deadline, submit answer papers in three groups.  Grade will be based on group performance. (15%)

b. Final exam: 

i. Multiple choices (40%)

ii. Short essays (45%)

� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���











Development Economics, Session 12
Page 4


[image: image8.wmf]n

t

P

P

P

/

=

_1008953654.unknown

_1008953786.unknown

_975742092.unknown

_975742712.unknown

_1008953524.unknown

_975742462.unknown

_975741799.unknown

